Solving Linear Equations and Inequalities Review ‘6“

Solve each equation.

1. 2(7+5y)-3y=-35 2. 7x+5=12x-10 3. -1=22
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Solve each inequality. Describe the solution set using interval notation. Then graph
the solution set on a number line.
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Solve each absolute value equation. '
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Solve each inequality. Describe the solution set using interval notation. Then, graph
the solution set on a number line.

8 —10b+3<—-370r3b-10<-25 9. -50<7k+6<-8
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Solve each absolute value inequality. Describe the solution set using interval
notation. Then, graph the solution set on a number line.

10. |7x+ 4] =74 11. |x+5|<9
TR Z4 o TxedL -y 6 <4 xrca?_-"’l
Tx =z THhE -8 Y & X> -\

KZI0 o ke -l

Interval Notation, (:‘UO i —\H] \) Interval Notation__( "“'*: ‘-‘\')

W

P N~ S —
N

Y



N

~

Sketch the graph of each line.
12. y=2x+6 13 y=:x-3
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14, S5x+y =2 15. x+y=2
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16. y=4 17. 2x -y =4
‘ﬁ - It
A : ) S - A
< Ju )J ‘ L
i 3 4 gl
: N
1 ; /
<EH kbR o BEEEM < >

L
-3
1
“h
1
-
i
S
|
™
1
=
[-]

Jé o J LV .




Write an equation in slope-intercept form that passes through the given point and
has the given slope.

18. m = ; through (—4,2) 19. m = -3 through (2, —5)
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Write the slope-intercept form of the line that passes through each pair of points.
20.(2,3) and (4,-2) 21.(8,10) and (14,13)
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Write the slope-intercept form of an equation that passes through the points and is
parallel to the graph of each equation.
22. through (—1,3),y = -3x+4 23.through (4,8),6x +y = 2 -\j___ —OxtL
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Write the slope-intercept form of an equation that passes through the point and is
perpendicular to the graph of each equation.

24.(2,5),3x +5y =7 25.(0,-4),6x -3y =5
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